
Form 7-50, 06-14 
Supersedes Form 7-50, 12-10 

Sheet 1 of 3 
 

14 INCH CONVERTIBLE TURNPLATE GAUAGES 

 2010 Hunter Engineering Company 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

14 INCH CONVERTIBLE TURNPLATE GAUAGES 
REFER TO NEXT SHEET FOR PARTS DESCRIPTION LISTING 

 

 

 



  Form 7-50, 12-10 

 PARTS DESCRIPTION LISTING Sheet 2 of 3
 

 11250 HUNTER DRIVE BRIDGETON, MO 63044 

 

PPP-Paint Code Required 

A/R-As Required 

REF-Reference 

 

PAINTED (Std.) TURNPLATE KITS 

 

Index 
No. 

Part Number Description 

A 20-2531-1 KIT, 14 INCH CONVERTIBLE TURNPLATE - RED 

OR 20-2533-1X KIT, 14 INCH CONVERTIBLE TURNPLATE - BLACK 

B 25-171-1-PPP TURNPLATE ASSEMBLY, 1.5 IN. / 50 mm (Qty. of 2) (Refer to Sheet 3) 

C 57-846-005 BAR, TURN PLATE GUIDE (Qty. of 4) 

D 75-574-2 SOCKET BUTTON HEAD CAP SCREW 1/4-20 X .75 INCH (Qty. of 12) 

E 76-85-2 NUT, KEPS 1/4-20 (Qty. of 12) 

F 20-2672-1 KIT, TURNPLATE FEET (Qty. of 2) 

 

 

STAINLESS STEEL (SS) TURNPLATE KIT 

 

Index 
No. 

Part Number Description 

A 20-2532-1 KIT, 14 INCH CONVERTIBLE TURNPLATE - STAINLESS STEEL 

B 25-172-1 TURNPLATE, 1.5 IN. / 50 mm STAINLESS STEEL (Qty. of 2) (Refer to Sheet 3) 

C 57-846-005 BAR, TURN PLATE GUIDE (Qty. of 4) 

D 75-574-2 SOCKET BUTTON HEAD CAP SCREW 1/4-20 X .75 INCH (Qty. of 12) 

E 76-85-2 NUT, KEPS 1/4-20 (Qty. of 12) 

F 20-2672-1 KIT, TURNPLATE FEET (Qty. of 2) 

 

 

LOW FRICTION (LF) TURNPLATE KIT 

 

Index 
No. 

Part Number Description 

A 20-2533-1 KIT, 14 INCH CONVERTIBLE TURNPLATE - STAINLESS STEEL LOW FRICTION 

B 25-173-1 TURNPLATE, 1.5 IN. / 50 mm STAINLESS STEEL LOW FRICTION (Qty. of 2) (Refer to Sht 3) 

C 57-846-005 BAR, TURN PLATE GUIDE (Qty. of 4) 

D 75-574-2 SOCKET BUTTON HEAD CAP SCREW 1/4-20 X .75 INCH (Qty. of 12) 

E 76-85-2 NUT, KEPS 1/4-20 (Qty. of 12) 

F 20-2672-1 KIT, TURNPLATE FEET (Qty. of 2) 

 



 

14 INCH CONVERTIBLE TURNPLATE GAUAGES 
REFER TO NEXT SHEET FOR PARTS DESCRIPTION LISTING 

 

 

 



  Form 7-50, 12-10 

 PARTS DESCRIPTION LISTING Sheet 3 of 3
 

 11250 HUNTER DRIVE BRIDGETON, MO 63044 

 

PPP-Paint Code Required 

A/R-As Required 

REF-Reference 

 

Index 
No. 

Part Number Description 
Std. 

Qty. 

SS 

Qty. 

LF 

Qty. 

1 25-171-1-PPP TURNPLATE ASSEMBLY, 1.5 IN. / 50 mm (Std.) (Consisting Of:) 1 - - 

OR 25-172-1 TURNPLATE, 1.5 IN. / 50 mm STAINLESS STEEL (SS) (Cons Of:) - 1 - 

OR 25-173-1 TURNPLATE, 1.5 IN. / 50 mm SS LOW FRICTION (LF) (Cons Of:) - - 1 

2 51-2471-1-PPP PLATE, TURNPLATE BASE ASSEMBLY 1 - - 

OR 51-2476-1 PLATE, TURNPLATE BASE ASSEMBLY SS - 1 1 

3 130-65-2 BEARING, 9/16 GROUND DELRIN 500P 58 58 - 

OR 130-180-2 BEARING, 9/16 GROUND TORLON - - 58 

4 41-187-1 RETAINER, TURNPLATE LF SS (Consisting Of:) 1 1 1 

5 41-137-2 RETAINER, DUAL BALL BEARING 14 IN. 1 1 1 

6 77-271-2 WASHER, 7/8 IN. INTERNAL TOOTH STAINLESS 1 1 1 

7 98-361-2 SPRING, EXTENSION 5/16 X 2 IN. SS 4 4 4 

8 51-2552-PPP PLATE, TOP TURNPLATE 1 - - 

OR 51-2553 PLATE, TOP TURNPLATE SS - 1 1 

9 135-208-2 PIN, LOCK WITH CABLE 2 2 2 

10 75-333-2 HEX HEAD CAP SCREW 1/4-20 X .63 IN. 2 2 2 

11 76-85-2 NUT, KEPS 1/4-20 2 2 2 

12 128-1301-2 DECAL, TURN PLATE 1 1 1 

13 62-53-2 FOOT, TURNPLATE-1.5 INCHES / 50 mm 4 4 4 

14 75-609-2 FLAT HEAD MACHINE SCREW 10-32X .87 IN. 4 4 4 

15 76-61-2 NUT, KEPS 10-32 4 4 4 

16 46-654-2 SPACER, THREADED 1 1 1 

17 51-2473-PPP PLATE, ROUND SLIDE 1 - - 

OR 51-2478 PLATE, ROUND SLIDE SS - 1 1 

18 74-487-2 FLAT HEAD SOCKET CAP SCREW, 1/2-13 X 1 IN. SS 1 1 1 

 


